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UNIT 2: Index laws—multiplication with indices

3 7 x| ]
d 9 x[]
g 82;<D
Ioaex]

710 b
9° e
8’ h

QuesTion1  Simplify the following, writing your answers in index form.
a 3*x38- ' b 6°x6 =

d 5 x5° = e 2¢x25=

g 10° x 10° = h 11° x 114 =

j 6°x6¥= k 10° x 10" =
QuesTion 2 Simplify the following, writing your answers in index form,
a 5x52= b 2°x22=

d 72x7= e 6°x6=

g 11°x 11° = h 10°x 10 =

j ¥x3= k 5°x5° =

QuesTioN 3 Simplify the following.

a 5 x5 = b 6°x6" =

d 3¥x3°= e 5 x5 =

g 27x2%= h 11*x 11% =

i "x7Px7= k 3°x3%=
QuesTioN 4 Simplify the following.

a 13%x13% = b 2°x 24—

d 6°x6°= e 3 x3=

g 3%5° x 3%5% = h 11°x11° =

j 7x7i- k 5°x5 =

QuesTion & Simplify the following.

A 6x6= b 107 x 10 =

d 55x5= e 6°x6°=

g 2°x2°= h 3" x 3=

i 7x7%< k 5%x 5% x52=
QuesTion 6  Find the missing term in each of the following.

| |x6°=¢°
Px[ ]-3
[ Jx2?=2
[ ]x9t =0
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72 % 7% =

6% x 6% =

7" x 7%=

137 % 132 =

6 x 6% =

3Fx3 =

5 x 5% =

2 x5 =

6% x 6° =

10* x 10° =

¥ x3x3=

2°x 2" =

Bx2e

6 x 67 =

7P x7=

10% x 10° =

22 % 23 =

T 7R =

6° x 6° x 6% =

11° x 11° =

4‘{*><|:|=45
[ ]x32=3%
[ ]x22=28




Indices

UNIT 3: index jaws—division with indices

QuesTion 1 Simplify the following, writing your answers in index form.
a 10°+10° = b 6%+6° =

d 373 = _ e 50+5 = _

g 2¥+2°= h 3% +3%=

j 510+53= k 218+212=

QuesTion 2 Simplify the following, Leaving your answers in index form.
a 3¥+3= h 11°+11% =

d 618 + 6 = e I —
g 5% +5" = h 10° + 10° =

j 13°+ 138 = kK 5%+ 5" = _

QuesTion 3 Simplify the following,

i

QuESTION &

a 59+ 52 =

d 6%+ 6°=

g 10°+10' =

j- 321, 34 =

QUESTION 5
a 117+11 =

d 62+6 =

g 37+3'=

j 2'1057 - 2854 —
QUESTION 6

a 6+ |=6

d D +8=8

g 3%+ D =3¢

j 3444 = D = 3342

747

'7T3'=__-____,_—————-

Simplify the following.

Simplify the following.

writing your answers in jndex form,

1010

—_— =
10 —_—

340

211 - 25 =
5‘12 - 53 —
323 - 38 =

732 + 7'18 =

6? + 6° =

BTt =

29 1 2% =

455° + 435% =

Find the missing term in each of the following.

614+D=68

99+95=D
_El_=47

42

| ]+22=2"
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119+ 11% =
1310+ 13° =
715 . 74 =

5'1/1 : 55 =

69

Eg =

7'12

—_73“ =

532

‘gg_= e
316

éﬁ e
62 + 616 = !
11° + 113 =
13+ 13° =
954 5 92 = 1
67 + 6° =

108 + 107 =

— (Y o ®

—te LY o = D

oy



Indices

UNIT 5: Index laws—the zero index

Question 1
a (48) =
d (86)° =

QUESTION 2
a 9°=1

d (2.3)°=1
g 5x7°=-5
j 21x(-5)°'=21

Simplify the following.
b 8x3=

e (x) =

h 840=

k (9ab)° =

Use your calculator to verify true or false for the following.

b 93°=1

e —(6)"=-1
h -61°-3°-5°=-3
k 6x4°%(-9)°=6

QuesTion 3 Simplify the following.

a 6x2y' =
d 6x(60)°=
g (ab)'x9 =
j (8+8y-

QuesTioN 4

a 6+ (6x)° =

b (8d°)% =
e 9x4x’=
h 16°+9°=
k (5a%)° + (3b7)° =

Simplify the following.

10y°

b oy

d -8 - (-8)°= e 9(2a-3b)°=
g 28x% = h 2ab°c° =
j (¢x8)°= k (6xy2)° =
QuesTion B Simplify the following, leaving your answers in index form.
a 22x2"= b 3°x3%=
d 10°x 10° = e 85x8" =
g 8°x8 = h 5°%x5° =
j 3¥x3*x3%= k 72x7'x 7%=
QuesTioN &  Simplify the following. o5
6y)° x 6y° = — =
a (6y) x 6y b 37
6* X6° . 5a° % (2¢°)°
‘ 6 208 @
L 9 % (5x)° 16p°
| l! g _'—LO_)_= h -*—po—=
1\ 8x 8n
| ! . ) . . 2q° X(aabz)o
Lo 8% x (8y)° + 4y" = kK ——5— ————
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C (g) =1
fo(ex12)0=1__

i 8x6°=8

{ 12 +4°=12 .

c 7°+8m’=
f (-15)° + 8=
i -9x"+12=

L 9()° x 8()° =

¢ 4x4= :
f 55x6%= _ __}
i 6°x6"=

I (-3)°x-3"x-3"= i
(62)° % ()" _
26x° -

f(6y)° + 6y = b

(4p°)° x2p°
3200

L 6x° x (6x)° = &

o F T T \MnrkbOok'f 3




